1970 0000000000000 PDFOOOODOOOO
OdOo0o0o0oooodoo
https://www.100test.com/kao_ti2020/138/2021 2022 1997 E5 B9
B4 E5 85 A8 ¢98 138275.htm I O 0 O O (090U ,00 O 10 O
OJ200,001200,0002000,00001000)@M0O0
06656250 0000000000 A)6*746*735*%72 6*71
2*7-15*7-2 B) 6*73 6*72 5*71 6*70 2*7-1 5*7-2 C) 6*104 6*103
5*102 6*101 2*10-1 5*10-2 D) 6*103 6*102 5*101 6*100 2*10-1
5*10-2 QU UUOOU0O0OO0D0OO0O0OO0O0OOAUOOOOBYOO
OJo0oOuouoobDoOoooooonO ()uoocrpPuld
J000oooo,o00ooooocpPudooonon (2
O0)YA)OOBOO C)cacheD)UDODO @AUUODOOOO
OoOoO?2@O)0O.00:"x(F(x) - G(x) ), $xF(x) O O : $xG(x)
0.0 0 : $XF(X) - "y(G(y) - H(y) ), $xL(x) -» $yG(y) O O :
SX(F(X)O L(X) ) - $yH(y) O .0 O : $xF(x), $xG(x) O O : $x(F(x)
OGKX)O.00:$x(F(x)” Gx))Ud:"yr(y)A)UUODIO B)
JododoocQuuoooooobygoooo G)atr
SRIN)=[xX,U0O0ROOOO,x]o000OxOOOOO,00
Oo00o00o2A)f0000,0000o00)fiodo,od
OJo0oOooOfiodoDfioooog,oooood ()
OROODOA={a,bc}00000OO,0R={0a,ald,0b,bd}, O
Jodododo?d0.ROODO0OO0OO0OO0O0O.ROOONO
OJo000000 O RODAOOOOOOAOOOBOOO
COUuoobDOoOUdO (Ho2233111,1000000000
JO0o0oooooono (20)A)4B)5C)6D) 8 (8) 601 110
JO000o0boD0odoodoooooOoodg A)3B)4C)5



D)6 OOUF})xOODODOODUOO,GX)xOoooooo,0o"d
Jo0odooooooooooooo"oooooood
OO0?20."%(F(X) -7 G(x)) O.(Fx)U 7 G(x)) O .9 "x(F(x)
SGX)AUODUOOBUOUOLD CQUuuoouono b)o
Joooo (0)udoodae=0

0 V={viv2,v3vav5},E={(vl,v4),(vl,v4),(v4 Vi),
(viv2),(v2v3),(V3v)},0 OO0 oodod AGUOOO B)G
JO0o0o0ooceood D GOOOO 100Testd O OO
J000000o00oodoooonDdnO www.100test.com



